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255 ol zSeat 43 46 89 | 240 | 65.0 |[AE

Bm = 45 44 89| 21.0 | 68.0 |[AE

=F BE 45 45 90 | 22.0 | 68.0 |[AE

W A ZF 41 46 87| 18.0 | 69.0 |[AE

T E=sh 49 42 91 21.0 | 70.0 |[AE
WE &— 42 44 86 | 15.0 | 71.0
RET BAX 46 43 89 | 18.0 | 71.0
TR Mz 50 46 96 | 25.0 | 71.0
ME ER 42 44 86 | 14.0 | 72.0
10 B 2 43 43 86 | 14.0 | 72.0
" \#Hs BE 43 44 87 | 15.0 | 72.0
12 |EH 17— 41 50 91 | 19.0 | 72.0
13 |1Bm # 42 47 89 | 16.0 | 73.0
14 | XKH FHE 45 47 92 | 19.0 | 73.0
15 |&F OF 50 43 93 | 20.0 | 73.0
16 |#R#5 = 48 45 93 | 19.0 | 74.0
17 #FH 15 45 44 89 | 14.0 | 75.0
18 |=8 sk 44 45 89 | 14.0 | 75.0
19 &8 —=% 47 51 98 | 23.0 | 75.0
20 |EF #Esh 43 47 90 | 14.0 | 76.0
21 |HE BXR 46 46 92 | 16.0 | 76.0
22 |# Fx 47 46 93 | 17.0 | 76.0
23 |ER KA 46 48 94 | 18.0 | 76.0
24 @ FE 44 52 96 | 20.0 | 76.0
25 |lUA FE 51 49 | 100 | 24.0 | 76.0
26 |tF A 48 56 | 104 | 28.0 | 76.0
27 ||/ Ak 46 45 91 | 140 | 71.0
28 |1EEF &HH 51 47 98 | 21.0 | 71.0
29 |ithE EE 52 50 | 102 | 25.0 | 77.0
30 |/héEh  FNEK 44 49 93 | 15.0 | 78.0
31 | F— 50 45 95 | 17.0 | 78.0
32 |Z”H xRE 48 48 9 | 18.0 | 78.0
3R &’ 45 49 94 | 15.0 | 79.0
M |BX BZ 46 50 9% | 17.0 | 79.0
3% | HF & 50 53 | 103 | 21.0 | 82.0
36 |1 BE 50 58 | 108 | 24.0 | 84.0
37 [Nl 1B 57 49 | 106 | 20.0 | 86.0
38 |FEH IE 56 51 | 107 | 16.0 | 91.0
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